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= 924,000
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SN BA
ZH: NR=EE 2B
©el: MEHDISXA=E (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Oz Mands+dH 2o 1,079,400
N e 2 1,115,298 985,570 129,728
201 Zere ey 732,520 704,170 28,350
01 At2teltl 46,420 48,070 21,650
OXEAE 1= 7Y
300,000 x5 *13] 1,500
ONeasdE HARE 7 3,000
ORRAESME POUHHINAL KX
160,002 123] 1,920
OHELHRAIAL SWe| HBHY
1,500,000& 23] 3,000
O+BEMNS2E 3,000
OHELH2S RAVR Ha 2,000
2 222 686, 100 656, 100 30,000
OR&=eHIE SIEH| 25,000
OAI&FH KXt 15,000
OHSM M2l B(HES) 40,000
OXEs=ale] 2elgaltl 100
O22N SeAY V|
1,000,000 x6& 6,000
OJleid MEHIIZ FISRR 84(42) 600,000
202 04t 5,778 6,000 N222
01 2LHO4H 5,778 6,000 NP2
OMEBMED| 2RI BY 5,778
206 =4I 12,000 12,400 A400
01 =4l 12,000 12,400 A400
ORzeHIE ofE 7Y 5,000
OUgld JIAHHNE RE82 4,000
Oms 21 7 3,000
308 AXIHSOIA 170,000 140,000 30,000
12JIERd8= 170,000 140,000 30,000
OHDIZXE 2E3 170,000
401 AIE2HIX S CHYI 80,000 123,000 243,000
o1 Alt 80,000 123,000 243,000
OUHRIAIE NIEDI WA 20,000
Oo! MBXRABISHE HaA Il L
AAAH 2 30,000
OAIZEHl |AXl - 30,000
405 AtatE=H 115,000 115,000
01 MM =S FSHI 115,000 115,000
OgExe 9 £ 2y
&d897,000,000& 97,000
o2 &H 7 18,000




1

g
Ad=stdy 2
MEHD| S (St &)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
dsHll=2 = - MelXE At 175,000 0 175,000
= 52,500
= 122,500
201 er2d 175,000 0 175,000
= 52,500
o 122,500
2 s3=2E 175,000 0 175,000
OgsmllE A - Xl ES 175,000
s 52,500
s 122,500
FHEF NS 30,100 6,100 24,000
He =Hed 24 30,100 6,100 24,000
st 4238 24 6,100 6,100 0
201 get=ay 6,100 6,100 0
01 At 22| 5,000 5,000 0
OMaSIt+ 3t s =
= 25,0002 *1CH*2002] 5,000
02 35244l 1,100 1,100 0
OJelsta=x 2 &5 fE= 1,100
= AL M 24,000 0 24,000
207 AR 24,000 24,000
01 H71ES 24,000 24,000
OIFAEHE TS CHIA 29 24,000
HY2HHHI(2HD 114,030 142,051 A28,021
AR LH|(2Z D 72,300 100,081 N27,781
elAHI(&d 1) 72,300 100,081 N27,781
101 e124d| 72,000 99,781 N27,781
03 SRA (21 A== 72,000 99,781 N27,781
OQIfY (= dE 2te)
6,000,0002x1&*12& 72,000
201 Zet=Ehl 300 300
01 AtR2telHl 300 300
OS2 (gZ 0zt 1=
150,000 1 +23] 300
[2Z2HI(&3 ) 41,730 41,970 A240
JlEZe(8Z ) 41,730 41,970 A240
201 er=3| 36,492 36,732 A240
01 At22t2lt] 36,492 36,732 A240
OPJF—St= sl 9,900
OJl=sgl 12,672
O Al 60,0002 2 *116& 13,920
202 048l 1,458 1,458
01 =LHOHI 1,458 1,458




A S
M S| (22 D)
ol J12ddI(EZ 1) EEREE)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
O& 1 J|=gR=a 1,458
203 ZR =& 3,780 3,780
M FA2HHRFAHI 3,780 3,780
OBA BHSHYDEH
350,000 * 12 *90% 3,780
MHRES (22 D) 1,467,271 292,998 1,174,273
LHEHeH XIZ 1,467,271 292,998 1,174,273
LI XIE 1,467,271 292,998 1,174,273
R ISEES 1,467,271 292,998 1,174,273
01 JI3HES 1,467,271 292,998 1,174,273

OHPISXcIANE F2XEDIS dES
3&1

181,467,271,000& 1,467,271

o o




